Hw evens o [ined
In Exercises 23-32. find the exact v without a calculator. P"’P
23. cos (sin '(l/zn / 'sm (tan”' 1)

25. sin”! (cos (m/4)) bos™! (cos (7m/4))

27. cos (2sin”" (1/2)) kr n (tan”' (=1))

hrecos (tan (7/4))

29. arcsin (cos (m/3)) 30.
31. cos (tan”! \/?} Utan ' (cos )

Z
a1) cos (2 ‘-E)= 5(%)>2
24) areswa ét =T

) In er;cuscq 47% find an a]gebmlc expression equivalent to the given
expression. (Hint: Form a right triangle as done in Example 5.)

47. sin (tan”' x)

'
49. tan (arcsin x
q

51. cos (argtzm 2x)

47) tan"'x = © .

tune = x -5 46T \

& h
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3. Finding a Distance The angle of depression from the
(p of the Smoketown Lighthouse 120 ft above the surface of
the water (0 a buoy is 10°. How far is the buoy from the

lighthouse?
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15. Civil Engineering The angle of elevation from an ob-
server to the bottom edge of the Delaware River drawbridge
observation deck located 200 ft from the observer is 30°. The , ;
angle of elevation from the observer to the top of the observa- . . 8 b
tion deck is 40°. What is the height of the observation deck?
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16. Traveling Car  From the top of a 100-ft building a man
observes a car moving toward him. If the angle of depression
of the car changes from 15° to 33° during the period of obser-
vation, how far does the car travel?
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